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Nonmendelian Genetic Problems

For each of these problems you need to make a punnett square and answer the questions that follow.
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1. SpongeBob belongs to a special species of animal.  This species seems to come in three different phenotypes in regards to pants.  Square pants is incompletely dominant to Circle pants.  The heterozygous individuals have Oval pants.  Mate SpongeBob Square pants male with SpongeOprah Oval pants?  

a. What are the genotypic and phenotypic ratios?

b. What percentage of the offspring have Circle pants? __________

c. What percentage of the offspring have Square pants? __________

d. What percentage of the offspring gave Oval pants? ____________

2. If a yellow guinea pig is crossed with a white one, the offspring are cream-colored.

a. What type of inheritance is this showing? __________________

b. Cross two cream-colored individuals and give me the genotypic and phenotypic ratios.
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3. Baldness is a sex-linked recessive trait in humans.  Having hair (H) is completely dominant to baldness.  A woman whom has normal hair, but carries the recessive allele mates with a normal haired male.

a. Make a punnett square of this cross.

b. What percentage of the total offspring are bald? _________

c. What percentage of the females are bald? ___________

d. What percentage of the males are bald? _____________

4. Squiggly Wigglies are a special group of animal that show codominance for fur color.  It seems they come in three different colors.  Blue fur, Yellow fur, and a Blue and Yellow checkered fur.  Two Blue and Yellow checkered individuals meet and have baby Squiggly Wigglies.  

a. Make a punnett square of this cross.

b. What are the genotypic and phenotypic ratios?
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5. In a town in Southeast Michigan there exist a creature known as the Eagles.  They come in three different heights.  Tall Eagle, Short Eagle, and Medium Eagle.  Tall Eagle is incompletely dominant to short eagle.  

a. Cross a Medium Eagle with a Short Eagle and give me the genotypic and phenotypic ratios.

6. The ability to enjoy shopping is a sex-linked recessive trait in humans.  Disliking shopping (D) is dominant to liking shopping.  Cross a man, who of course dislikes shopping with a woman who enjoys shopping.

a. Make a punnett square of this cross. 

b. What percentage of the total offspring enjoy shopping? __________

c. What percentage of the males seem to enjoy shopping? __________

